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Answers

1. D

2. A

3. A

4. D

5. A

6. D

7. B

8. D

9. A

10. C

11. C

12. A

13. C

14. D

15. A

Solve each problem.

1) Which choice is a
multiple of 6?

A. 106

B. 110

C. 80

D. 78

2) Which choice is a
multiple of 3?

A. 60

B. 56

C. 49

D. 41

3) Which choice is a
multiple of 9?

A. 126

B. 121

C. 148

D. 147

4) Which choice is a
multiple of 5?

A. 62

B. 94

C. 86

D. 85

5) Which choice is a
multiple of 10?

A. 130

B. 187

C. 139

D. 161

6) Which choice is a
multiple of 5?

A. 78

B. 69

C. 104

D. 70

7) Which choice is a
multiple of 2?

A. 41

B. 40

C. 27

D. 39

8) Which choice is a
multiple of 2?

A. 25

B. 39

C. 29

D. 36

9) Which choice is a
multiple of 2?

A. 30

B. 27

C. 37

D. 41

10) Which choice is a
multiple of 6?

A. 75

B. 113

C. 120

D. 105

11) Which choice is a
multiple of 3?

A. 38

B. 37

C. 45

D. 40

12) Which choice is a
multiple of 10?

A. 180

B. 175

C. 202

D. 181

13) Which choice is a
multiple of 3?

A. 41

B. 40

C. 54

D. 43

14) Which choice is a
multiple of 9?

A. 102

B. 127

C. 124

D. 171

15) Which choice is a
multiple of 6?

A. 72

B. 104

C. 124

D. 93
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